



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分数: \_\_\_\_\_

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{6} =$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^0 + \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^0 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{3}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{6}\right) =$$



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分数: \_\_\_\_\_

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{3}{4}\right) = \frac{49}{64}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{5}\right) = \frac{9}{20}$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{6} = \frac{119}{750}$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{3} = \frac{19}{48}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{4} = 0$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) = \frac{3}{8}$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{5} = \frac{13}{40}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{3}{5}\right) = \frac{19}{40}$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{2}\right) = 0$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{6} = \frac{131}{750}$$

$$\left(\frac{1}{2}\right)^0 + \frac{3}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{2}\right) = \frac{5}{8}$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{2}{5}\right) = \left(-\frac{1}{10}\right)$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{157}{500}\right)$$

$$\left(-\frac{1}{3}\right)^0 - \left(-\frac{1}{6}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{2} = \frac{11}{18}$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) = \frac{3}{8}$$

$$\left(\frac{1}{3}\right) - \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(-\frac{1}{6}\right)^2 - \frac{3}{5} = \left(-\frac{103}{180}\right)$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{6}\right) = \frac{19}{48}$$